[N of reco track vs normalized x2 ]

racks
T

=10*

10°

10

0 2 4 6 8101214161820

| N of associated (recoToSim) tracks vs normalized x?

trugjracks
o
2
T

10

e e [l
0 2 4 6 8 10 12 14 16 18 20
track x2

N of associated (recoToSim) looper tracks vs normalized x*

2 4 6 8 1012 14 16 18 2

track x2

=
o
S

duplicate tracks

| S R

[

DOM_CKF_QCDHIghPt_retrain

N of reco track vs. 4 ———— DQM_mkFit_QCDHighPt_retrain

Ratio

. fake tracks
o Q
2% 2

[N
o
)

ERy: BER

3

0 2 4 6 8 1012 14 16 18 20

berset

track x?

=
o
S

duplicate tracks

10




	Contents
	Page 1


